
Counting:

= 0

[•] = 1

[•][•] = 2

[•][•][•] = 3

[•][•][•][•] = 4

[•][•][•][•][•] = 5

[•][•][•][•][•][•] = 6

[•][•][•][•][•][•][•] = 7

[•][•][•][•][•][•][•][•] = 8

[•][•][•][•][•][•][•][•][•] = 9

[•][•][•][•][•][•][•][•][•][•] = 10

[•][•][•][•][•][•][•][•][•][•][•] = 11

[•][•][•][•][•][•][•][•][•][•][•][•] = 12

[•][•][•][•][•][•][•][•][•][•][•][•][•] = 13

[•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 14

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 15

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 16

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 17

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 18

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 19

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 20

[•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•][•] = 21

Addition:

5 + 3 = 8

[•][•][•][•][•] + [•][•][•] = [•][•][•][•][•][•][•][•]
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Multiplication:

5 · 3 = 15

[•][•][•][•][•] · [•][•][•] =
[•][•][•][•][•]
[•][•][•][•][•]
[•][•][•][•][•]

Brackets:

(5 + 3) · 4 = 8 · 4 = 32

5 + (3 · 4) = 5 + 12 = 17

Exponentiation:

52 =

2︷︸︸︷
5 · 5 = 25

65 =

5︷ ︸︸ ︷
6 · 6 · 6 · 6 · 6 = 7776

74 =

4︷ ︸︸ ︷
7 · 7 · 7 · 7 = 2401

Subtraction and negative numbers:

5− 1 = 4 ⇐ 4 + 1 = 5

50− 3 = 47 ⇐ 47 + 3 = 50

4− 6 = −2 ⇐ 6 + (−2) = 4

Powers of i:

i0 = 1

i1 = i

i2 = −1

i3 = −i
i4 = 1
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(ab)n = anbn:

(7 · i)3 = 7 · i · 7 · i · 7 · i
= 7 · 7 · 7 · i · i · i
= 73 · i3 = 73 · (−i)

Fractions:

10

2
= 5 ⇐ 5 · 2 = 10

240

3
= 80 ⇐ 80 · 3 = 24

Factorials:

5! = 5 · 4 · 3 · 2 · 1

Definitions of exp, sin, cos:

exp� =
�0

0!
+

�1

1!
+

�2

2!
+

�3

3!
+ . . .

sin� =
�1

1!
− �3

3!
+

�5

5!
− �7

7!
+ . . .

cos� =
�0

0!
− �2

2!
+

�4

4!
− �6

6!
+ . . .

Euler’s identity:

exp(� · i) =
�0i0

0!
+

�1i1

1!
+

�2i2

2!
+

�3i3

3!
+ . . .

=
�0i0

0!
+ i · �

1i0

1!
+

�2i2

2!
+ i · �

3i2

3!
+ . . .

=

(
�0i0

0!
+

�2i2

2!
+ . . .

)
+ i ·

(
�1i0

1!
+

�3i2

3!
+ . . .

)
=

(
�0

0!
− �2

2!
+ . . .

)
+ i ·

(
�1

1!
− �3

3!
+ . . .

)
= cos� + i · sin�
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